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And what if by suet, which is punishable by n22; is 78372 0%

Overview

The X713 (according to one view) explained that 7°3 is X172 M1 according
to 2", because we derive this 7837 07 through a 1'p from 2%n. If 291
which is so strict (the punishment for violating the 71%°9% M0°X of 2% is n72),
and nevertheless it 1s 7X172 N7, so 7°3 which is less strict (there is no 211
n1> for eating 1"7°3), should surely be X172 90, Our NvoIN will explain the
intent of this 1"p, thereby avoiding various difficulties.

nooIN asks:
— 9119999 1NN YNDIN INYY 7‘,7031‘1 Y N1IYY 9NN ON)

And if you will say; let us say that the ‘stoned ox’ and other 7R177 5910°R

will disprove this "7, for -
— 2AN3NA PAYON 991 1999N) N993 1)INY

They are not punishable with n95, and nevertheless they are 1781772 19910K;
similarly 717 73, even though it is not n722, can also be X172 70OK.

MooIN answers:
— ININA MM NDIINA DN NI WINYY aTN N1 VIV 2517 990 U

And one can say; that this is the explanation of the 1"p; and what if by
2%n which is punishable with n1> and it is forbidden to be eaten, but

nevertheless it is IR N -
—>mnsy nY*23 M9

As the carcass itself is 7x372 2nn; then -
— 119523 9950 Y993 NAOYW 19V Y3 Y D95 WY PRY 1)

The 7wi7 753 which is not punishable by n15, should it not certainly be

included in the 7X317 2097 of the 79521,
—*n993 1915 7Y XY RV

" These may include 01571 *X?21 777, etc.

2 The 1"p assumes that something which is not n75 vy (and therefore more lenient than 1%m) should
[certainly] be X172 7nm. However we find other 0°10°X which are not 172 w1y and are still X372 70K;
indicating that the lack of N33 w11y is no reason for X7 7.

> When the 770 was X317 "0 for 297 (by writing 79892 9% Awy® a1 72°21 29m) it is considered as if the
7N reinstated 271 as part of the 7921 An°n. It is apparent that nooWn considers (7°3) 271 a priori as an
integral part of the 777°21 (as opposed to 7). MoON disagrees with 72711 7"'72 *"wA. See footnote # 9.

* The 1"p from 291 to 73 is not (merely) that since 257 is X372 2NM (even though it is N7 W), so T
(which is n73n Mwd) is surely 78172 NI, but rather since [even] 277 (which is N3 ww) is included in the
X177 of 7721, so too should 723 be certainly included in the 837 207 of 7721,
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And now it is absurd to argue the proof from 5poi7 7w and other 7837 *MOR,
for they cannot be included in the %37 2n°7 of 7%9°21 for their prohibition is not associated
with 79°21.”

modoIn explains how the foregoing eliminates an anticipated difficulty:
— 715533 5992 938 017 *0712 9IN 5P 3123 TaydnY K8 Y)Y

And therefore the X723 could not also have made a similar Y'p from
‘blood’; the reason this 1"'p from 27 was not made is because a7 is not
included in the nX317 07 of m9921.

mooIN supports his contention that 07 is not included in 77°21:
— (%2397 "YU NHHYIITI 79523 BYVN 13 PN DRIV IT59N)
And the 07 of a 79°21 is not even X»v because of 721 as I explained
previously. Therefore by 07 we cannot say that when the 7m0 was X372 07 "N it
became associated with the 7% 2n°7 of 1719°21, since 07 is not considered part of the 79°21
as indicated by the axmw Mo°R of 7. Had we made a 1"p from o7 it would have been
refuted through the > of X7 ™MOX IRW 2p0IT MW -
—"nbr23 Y993 9w MmN 25N Yan

However 2%n is indeed included in 779°21 -
— N9 72981 19523 2191 1970Y Na9INT NP P98 D &Y CAnmvYt

For 251 would not have required a »o9 to teach us that it is X»v»; on the
contrary a oD is required to exempt it from 779921 DXV, We may infer from

> 777w and 07371 °X93 (which are 7372 2°10K) certainly have no connection to 77°21. The same is also true
concerning ?po31 MW, who is X172 MOR even if he was vnwi properly, and his O°K cannot be associated
with 79°21. However 7°31 2711 are part of the n%°21 and if the nXi7 2n°n of 79°21 applies to 2% it should
certainly apply to 7.

® If blood which is N7 w1y is 7K NM (this is derived from o3 1125wn; see X,13), then 7°) which is Mo
n1on should certainly be 78372 n; the same 1" as from 27n. That advantage of deriving 73 from 07
would be that we cannot ask the 837°0 of 712 19951 N7 12w as we can by 277,

7 Therefore, since 07 is not included in 79°21 [1n*], we can refute the Y'p from o7 with the 7231 of P03 M.
¥ 59 11"72. There the "1 stated that there is some 100 which teaches that 39721 07 is Xnvn; but not because
of ma1.

? See (end of) footnote # 3.

' mpoIn may be responding to an apparent difficulty; how can we say that 2% is 79°21 9992 (according to
"7779), for if this is indeed so, why does 2";7°7 assume that the 2%1 7n°7 of 79X7n 257 nwy» is for nXan, perhaps
it is for AW 701, This should indicate that 271 is not 779°21 9932 and therefore there is no need for 20’1
R (see 9" MoIN who indeed assumes this explanation). See following footnote # 12.

"' We would not have needed another P10 to teach us 251 NXmW (as is required by a7), since 251 is 7922
7221, Now mwon will prove it.

2 1t would seem that moon understands 3"7™ when he states X7p TH0XR K> 777091 IRMYY, to mean that
since 718717 "3 7wy teaches us 777V N7 by 72°21 290, then we do not need the word (79891) ™5%' to teach
us 777v 7 by mMas (for the general nxmwvn 01 which is derived from 758717 qwy» is sufficient to include
M2 as well). The 937 teaches us, therefore, 7837 07 even by v77. Evidently there is a 0w of 79721 N
by 2%, so obviously 271 would have been included in 7%°21 n&mIv, were it not for this 2. See ?"w i (and
[71 %] R"wAnn). See previous footnote # 10.
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this that without this exemption (from the p109), 291 would be &nun as part of the 79°23,
this proves that the 7837 207 of 291 may be connected to the 7RI 7 of 7921 (as
opposed to 07 where its 7837 207 has no connection to 777°23, just as its XMW has no
connection to 777721 NRMAW).

mooIn anticipates an obvious difficulty with this contention that the 7837 207 of 2% is
(somewhat) associated with the 7X37 2077 of 79°23:
— NN KD NADNY NIMN NN 9INPT RN

And that which 1";71 states that when the 79°21 was declared to be =n»
X172, only the 712°21 was permitted but the 2517 of the 77°21 was not given

a 7IRI7 NS, it is seemingly apparent from this statement that 2517 is not included in
7921 (for otherwise it should have been permitted nX172 as part of the 19°21). This
contradicts that which m»01n has maintained previously that once we have a 7X17 70’7 by
25n it is associated with the X317 207 of 79021

mooIn responds; the reason 277 is not included in the %37 207 of 77721 -
— N33 Y593 "N NYT OIVN IND

Is not because 2771 is not included in ;7923 (for 257 is definitely included in 7521

as we see from the n¥mW N7 that is required by 251, to exempt it from 7%°21 nRMWY) -
— Pnbvrana 191902 9MNY A1 KX 195232 NN XYY DIVUN NN

But rather the reason 2%71 is not included in 777°21 2n°77 is because that
which was permitted 7X172 by 79921 is limited to only what was permitted

to be eaten by a 7977 (a TWIW); however since 297 is always 72°2X2 MOX (even
by a nInw) therefore it could not be included in 71%°21 907 (even though in reality 251 is
79°31 9992').

Mmoo concludes that if we accept this assumption that the 7X37 n°7 of 2717 is associated
with the 783177 907 of 177°21, this will resolve an additional difficulty:
— 139922 19N22 )IN TN “mx‘p‘r NN 99V NN XYM

And now the reply of 3"7" to w" will be properly understood, when the
X2 stated, and the other (meaning 3"7°7) maintains, ‘we are discussing

72 exclusively’. Seemingly this is no reply for we always introduce M2 and M
from other cases; what does 3"77>7 mean when he says we are discussing only a fn72?!

1 The 7710 writes *121% 21911 13 7300 "3 3% 79221 93 998N &Y; indicating that the X317 0% (of 71911 manN) is
referencing the 1228n X2 which applies only to the 72°21 MoK, but not to the (7°3) 271 MOR, which are 7108
regardless if it is a 719°21 or not. However once the 77 includes 251 in X317 207, this is an indication that
all parts of the 177°21 (even those which we initially thought cannot be included directly in the 7%°21 In°n
[because of the 19580 X)), are also 7RI M.

" If we accept the assumption that 2711 2> is associated with 79°21 207,

13 " refuted the 1"p of 3" from 297 to 7%, saying that 257 is permitted by a 71 (as opposed to %), so it
is more lenient than 73 and therefore 1X172 Nn.
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mooIn explains:
= 1992 9991 HYD9a NIYY NN 192999 XYY

For 2"7>1 did not want to derive, through this 1"p, the 7 20> from 251 "0
directly, but rather the 1"p is to accomplish that 7°3 should be included in

the 779921 N7 (just as 297 is). Therefore he replies that the X37°0 from ;1 is irrelevant
for even if 251 may be more lenient than 7°) (in some other aspects), it does not preclude
that 7 should be included in 7%°21 70> at least as much as 257 is -

$9°9Y 9997 NN NNYYa YaN

However generally when a 1"p is used to derive one directly from the other
then 1"77°7 would agree that it is proper to refute this 1"p from other cases.

Summary
The intent of the 1"p is to teach us that just as 2217 (which is more severe) has

been included (by association) into the 7X17 2n°7 of 7%°21, so certainly 7
should also be included. [731 251 are an integral part of the 71%°23, while 7 is
not (as evidenced by the need for a 7w"7 that o7 1s Xnwn).]

Thinking it over

1. After the X3 cited the 1" (according to 3"7°7) that 7°3 is X172 7NN, the
XM asked why then does w"7 prohibit AX172 7°3. Seemingly, since w'"9
maintains Q¥Y M2 PP7°A2 X, therefore 7°3 cannot be included in the 207
7221. How can the X173 ask that w"9 should agree to the 1"p of 3";121'°

2. MooN initially asked that 5p017 MW and 7X317 MOX KXW should be o,
Seemingly w" refutes the 1"p with a X370 (that 257 is 712 9m7). Is the 7710
of mooIn stronger that the 8>71°0 of w"1?"’

3. Md0IN maintains that the 1"p teaches us that 7° should be included in the
7R3 0 of 177°21. The Ra) later asks why does not w'"9 derive X317 207 by
7% from this 1"'p. However, since w"9 maintains a¥v M2 7732 X, S0; a)
how can it be included in 7%°21 2033, and b)18 if it has not avv, then
seemingly the entire 70X is only an 7X17 MO°X, how then can it be included
in the 7521 1nn"”

16 See *"19 (and 237 *pd)

17 See 2" Pl

18 See ™MI0K 71 IXRITA MOK 27 RIT R3O 121 2" 2 17 K,20 MdOIN.
19 See *"19 and n'"ox.
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